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SECTION B
Read all figures/extracts before answering.

Write your answers in the spaces provided.

Question 1
Energy and telecommunication markets in the UK

Figure 1: Average annual household bill from the Big Six UK energy suppliers, 2017
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(Source: https://www.lovemoney.com/news/67298/standard-variable-tariff-compared-
cheapest-deal-provider-savings)
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Extract A
Energy price cap to fix ‘broken’ market in UK

The Prime Minister recently said that the regulator Ofgem (Office of Gas and Electricity
Markets) should limit electricity and gas suppliers’ most expensive tariffs.

Under the planned new legislation, the energy bills of 11 million households will be
capped for as long as five years. The government claimed this cap could save households
up to £100 a year. This legislation would force Ofgem to change the licence conditions for
energy suppliers so that they are required to cap electricity and gas prices. The measure
will apply to anyone on a standard variable tariff, the expensive plans that customers

are moved to when cheaper, fixed-price deals end. Ofgem will need to consult energy
companies on how the cap is calculated, the government said. The Prime Minister
repeated her claim that she had to act because the ‘market is broken, a charge the

big energy companies reject. “l have been clear that our broken energy market has to
change - it has to offer fairer prices for millions of loyal customers who have been paying
hundreds of pounds too much,” she said.

However, Michael Lewis, chief executive of E.ON said “the government must guard
against any unintended consequences that undermine customer service and push up
prices as a whole. A price cap will not be good for customers. It will reduce competition
and innovation”. Smaller suppliers such as First Utility said the Big Six had only
themselves to blame for the cap, because they had kept millions of people on standard
variable tariffs.

(Source: adapted from ‘UK puts energy efficiency at heart of climate change strategy;, Adam
Vaughan, Copyright Guardian News & Media Ltd 2017 https://www.theguardian.com/
money/2017/oct/12/may-energy-price-cap-ofgem-electricity-gas-tariffs)

Figure 2: The monthly rental cost of a telephone landline
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*Wholesale line rental - the rental price BT Openreach charges telephone service providers

(Source: https://www.ofcom.org.uk/about-ofcom/latest/features-and-news/
landline-prices-review)
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Extract B
BT profitrises

BT Group, which includes BT Openreach and BT Retail, reported a rise in profit as revenue
increased following the integration of the consumer mobile business, EE. BT finalised the
takeover of EE in August 2016, and the integration has resulted in BT controlling 35% of
the mobile consumer market. The profit of the UK-based telecommunication group in its
second quarter 2017 rose to £566 million.

BT Group chief executive Gavin Patterson said: “We will operate a multi-brand strategy
with UK customers being able to choose a mix of BT, EE or Plusnet services, depending
on which suits them best. The acquisition enables us to offer great value bundles of
services and customers are set to be the winners as we compete for their business”.

(Source: adapted from www.marketwatch.com (Oct 27 - 2016) and http://home.bt.com/
news/bt-life/bt-to-retain-ee-brand-as-acquisition-confirmed-11364037422234)

Extract C
BT to slash landline charges for 1 million customers

Rental charges for landline-only customers — households with a telephone-only contract
but no BT broadband — will fall from £18.99 to £11.99 per month after the regulator
attacked existing deals as ‘poor value for money'. This rental reduction will save a million
landline-only customers £84 a year.

The regulator Ofcom (Office of Communications) said it stepped in because these bills
for landline-only customers — nearly two-thirds of whom are over 65 — have “soared” in
recent years. This is despite BT and other landline providers benefiting from significant
cuts in the wholesale line rental cost of providing the service by BT Openreach. Many
landline-only customers are elderly, and have been with BT for decades. Ofcom has
focused on BT because it accounts for two-thirds of the UK’s 1.5m landline-only
customers.

A spokesperson for Ofcom said “This position [of dominance] has allowed BT to increase
prices without much risk of losing customers, and other providers have followed BT’s
pricing lead. We expect BT’s price cut to mean other providers will follow suit”. Ofcom
said that over three-quarters of BT’s landline-only customers have never switched
provider, which has left them a prime target for price rises. The regulator said that all
major landline providers have increased their line rental charges by between 23% and
47% in recent years, while their own costs for providing the service have fallen about
27%. Ofcom said it is also looking at measures to help people shop around for better
deals with more confidence.

(Source: adapted from ‘BT to slash landline charges for Tm customers, Mark Sweney,
Copyright Guardian News & Media Ltd 2017 https://www.theguardian.com/business/2017/
oct/26/bt-to-slash-landline-charges-for-1m-customers)

3 T | EXPERT
I | TUITION

10

10

15

20



1 With reference to Extract C, assess possible reasons why many ‘landline-only’
customers do not switch to a cheaper telephone provider.
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(Total for Question 1 = 10 marks)
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Question 2

Energy markets

Figure 1: Annual surplus or shortage of uranium, measured in millions of kilograms
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(Source: adapted from http://www.telegraph.co.uk/business/2016/11/20/uranium-
the-unloved-metal-whose-price-is-poised-to-go-radioactiv/)
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Extract A
Uranium: the unloved metal

Uranium is a fuel source for nuclear energy production. The price of uranium has fallen
to a 13-year low. Uranium is a relatively common metal but locating it in the right
concentrations can be difficult. Australia has the biggest known resource of uranium,
followed by Kazakhstan. Kazakhstan’s production has increased significantly since 2007,
accounting for a large proportion of the surplus of this metal. Given the large stockpiles
of uranium some firms have ceased production.

The biggest impact on the uranium market has been the devastating accident at the
nuclear power station in Fukushima, Japan, in 2011. The accident caused a leak of
radiation. The accident reduced confidence in the entire nuclear industry, as high doses
of radiation leaks increase the risk of cancer. In addition the high cost of safely storing
radioactive waste has delayed the building of new nuclear power stations. Japan initially
closed all of its 50 nuclear power stations which reduced the demand for uranium. But it
has since concluded that nuclear power must be part of its mix of energy suppliers.

Despite this setback in 2016 work started on a new uranium mine in Spain to meet

the expected rise in demand for the metal. Uranium is a controlled material, so mining
companies have to comply with many regulations before opening a new mine. When it
opens in 2018, this will be the only uranium mine in Europe, producing 2.2 million kilos a
year. It has been in development for more than a decade.

Most developed countries, with the notable exception of Germany, have concluded that
nuclear power is an essential part of their energy supply. The US and UK are committed
to building new nuclear power stations, the latter providing a £30 billion subsidy to build
a new nuclear plant at Hinkley Point. China is also building a further 60 nuclear power
stations.

Supporters of nuclear power say it provides a reliable source of energy at a time when
the world’s population is increasing, unlike solar power and wind power which both vary
with the weather. In addition they argue that no country can significantly reduce carbon
emissions, which are causing climate change, without nuclear. France and the UK have
committed themselves to shut down all coal-fired power stations by 2025. So demand for
uranium over the next two decades seems guaranteed.

(Source: adapted from Uranium: the unloved metal whose price is poised
to go radioactive, Jon Yeomans, The Telegraph, 20 November 2016
http://www.telegraph.co.uk/business/2016/11/20/uranium-the-
unloved-metal-whose-price-is-poised-to-go-radioactiv/)
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Extract B
Irrational consumers pay the price

The UK Government has announced that it might introduce maximum price controls on
energy used by households.

The UK’s largest energy suppliers are braced for what could be the industry’s most
significant government intervention following a decade of rising energy bills and low
numbers of consumers switching between energy providers.

The Prime Minister promised to intervene because the energy market is “manifestly not
working” for consumers. Energy prices have risen by 158% in the last 15 years, and four
million households, especially those on low incomes, are still on the most expensive
energy rates.

Some energy analysts have warned the Government against taking a highly
interventionist approach that could undermine the energy market and leave customers
paying higher prices in the future.

(Source: adapted from http://www.telegraph.co.uk/business/2017/03/22/
governments-pledge-cut-energy-prices-risks-leaving-consumers/)

Extract C
The economics of climate change

Rising carbon dioxide emissions result from the increase in the use of coal, gas and oil

in transport and for energy production. In addition, deforestation, food production and
processing methods make the problem worse. These carbon emissions are causing a rise
in global average temperatures, known as climate change. Climate change could cause
hundreds of millions of people to suffer hunger, water shortages and coastal flooding.

Three elements of policy are required for an effective global response to reduce carbon
emissions. The first is the pricing of carbon, implemented through tax, trading pollution
permits or regulation. The second policy is to support innovation and the deployment of
low-carbon technologies. And the third is action to remove barriers to energy efficiency,
and to inform, educate and persuade individuals about what they can do to respond to
climate change.

(Source: adapted from www.sternreview.org.uk/)
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2 With reference to Extract B, explain two likely reasons why many consumers of
energy have not switched to suppliers offering lower prices.

(Total for Question2 =6 marks)J
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Question 3

Supermarket price war, food waste and possible mergers

Figure 1: Market shares by total revenue in the UK supermarket sector, 2010 and 2015
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(Source: Kantar worldpanel, http://www.kantarworldpanel.com/en/
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Figure 2: Proportion of food suppliers reporting that the following supermarkets
fail to meet the Groceries Code of Conduct, 2015.
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(Source: YouGov poll of more than 1100 food suppliers to supermarkets.
Reported in The Times, 23 June 2015)

Extract A
Supermarket price war puts pressure on their food suppliers

The number of food suppliers (to supermarkets) struggling to remain in business has

increased by more than 50% over the past year as supermarkets engage in an intense

price war. It has never been tougher for the UK'’s food suppliers according to a study by
accountants Begbies Traynor. It blames aggressive price-cutting by the supermarkets 5
and delays in payments to food suppliers as the main causes of the difficulties. Further
problems include food suppliers being forced to pay excessive amounts for packaging

specified by supermarkets and funding in-store promotions. Almost 90% of struggling

food suppliers are small and medium-sized businesses.

The price war has contributed to food prices paid by consumers falling by 1.7% over the 10
past two years.

The market shares of the big four supermarkets — Tesco, Asda, Sainsbury’s and Morrisons

— are under pressure as shopping habits change. Many consumers are switching from

one main weekly shop to shopping more frequently at local discount stores such as Aldi

and Lidl or purchasing goods online from other grocery retailers. 15

The big four supermarkets have responded by putting more pressure on their suppliers

despite an investigation by the Groceries Code Adjudicator (GCA). The GCA has the

power to fine supermarkets up to 1% of their annual sales revenue if they break the

Groceries Code of Conduct. A YouGov study found considerable differences between the
supermarkets in meeting the Code with Aldi performing well but Tesco badly. Despite 20
the Groceries Code, many food suppliers are reluctant to complain for fear of losing

contracts with the supermarkets.

(Source: adapted from ‘Supermarket price war takes toll on UK food
suppliers. Rupert Jones, The Guardian, 20th July 2015)
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Extract B
Food waste in the supply chain

A report from the British Retail Consortium reveals that supermarkets are directly
responsible for around 0.2 million tonnes of food waste every year. This is due to the
expiry of use-by-dates and poor handling of stock.

However, 4.1 million tonnes of food waste occurs annually in the food supply chain
before it even reaches the supermarkets, indicating the existence of information gaps.
The supermarkets are cooperating with food suppliers and farmers to try to reduce this
waste. This involves improving forecasts for supply and demand of food and increasing
the reliability of transportation and storage.

Consumers, the final stage of the supply chain, waste a further 7 million tonnes of

food each year. This suggests irrational behaviour. Supermarkets are also working with
consumers to reduce the waste by providing advice on how to store and use leftover
food. The development of packaging designs to keep food fresher for longer is one of the
innovations under way to reduce waste.

(Source: adapted from ‘Supermarkets tally up food waste bill’ Will Nicholls, in
Businessgreen, 19th January 2015. http://www.businessgreen.com/
bg/news/2390792/supermarkets-tally-up-food-waste-bill)

Extract C
Proposed merger activity in the supermarket sector

Analysts at Société Générale, an investment bank, have recommended a merger between
Sainsbury’s and Morrisons. They claim it would lead to increased economies of scale

and market power for the combined business. Such a merger between the third and
fourth largest supermarkets in Britain would have been unrealistic a few years ago due

to concerns of its impact in reducing competition. However, the chances of getting
permission from the Competition and Markets Authority have increased following the
growth of Aldi and Lidl. Giant mergers have been approved in other sectors such as
Lloyds-HBOS (banking) and British Telecom-EE (telecommunications).

The suggested merger would have its challenges. There is considerable overlap between
the locations of the stores and the enlarged company would require the rationalisation
and co-ordination of hundreds of thousands of employees. A new expensive IT system is
likely to be required and the underlying difficult market trends would remain in the food
retailing industry.

(Source: adapted from ‘Tesco-bury and AS-Morrisons. Could Britain's supermarkets be about
to merge?’ Graham Ruddick, in The Telegraph, 16th December, 2015. http://www.telegraph.
co.uk/finance/newsbysector/retailandconsumer/11699724/Tesco-burys-and-AS-Morrisons.-

Could-Britains-supermarkets-be-about-to-merge.html)
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3 Assess the extent to which ‘information gaps’ (Extract B, lines 5 and 6) and
‘irrational behaviour’ (Extract B, line 11) are the main causes of food waste in
the UK.
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(Total for Question 3 = 10 marks)
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Question 4

The market for cigarettes

Figure 1: Price elasticity of demand - a comparison between tobacco and

e-cigarettes
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(Source: adapted from https://www.blucigs.co.uk/united-kingdom/kits/all-kits)
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Extract A
Government intervention on tobacco

There was a time when smoking was fashionable. Television and magazine
advertisements glorified smoking. Everyone from your dad to your doctor smoked in all
places - cars, restaurants and even hospitals.

Tobacco is still the single biggest cause of cancer in the world and the leading cause
of preventable deaths. Nearly 80% of the 1 billion smokers worldwide live in low- and
middle-income countries.

Bans on tobacco advertising, promotion and sponsorship can reduce tobacco
consumption. Comprehensive smoking bans covering indoor workplaces, public places
and public transport have been introduced in 48 countries.

Tobacco taxes are the most cost-effective way to reduce tobacco use, especially among
the young and people in low-income groups. A tax increase that raises tobacco prices by
10% decreases tobacco consumption by 4% in high-income countries and 5% in low- and
middle-income countries.

However, some 8 million people are expected to die each year by 2030 - because they
have smoked tobacco or have been exposed to passive smoking. The use of alternative
products such as electronic cigarettes (e-cigarettes) are gaining in popularity but
information about their effects is uncertain. Little research has yet been done about
the long-term health effects of e-cigarettes and the nicotine dispensed by e-cigarettes
is highly addictive. The illegal tobacco market still counts for 1 in every 10 cigarettes
consumed globally. In addition, tobacco companies still spend tens of billions of dollars
each year on advertising and promoting tobacco products and sponsoring events. They
continuously challenge the regulatory measures governments are taking.

(Source: adapted from http://www.who.int/topics/tobacco/en/ and http://www.who.int/
mediacentre/commentaries/reducing-tobacco-use/en/)
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Extract B
Free market approach

Are free markets incompatible with good health? If the solution to every problem
involves banning advertising, raising prices and restricting availability, you might easily
conclude that the free market is the disease and government regulation is the cure. From
this perspective, the providers of food, alcohol and tobacco are determined to push the
most unhealthy products on the public at the lowest prices.

Contrary to this viewpoint, the profit motive is not unhealthy. Businesses have an obvious
incentive to keep their customers alive and customers have a strong incentive to seek out
healthier options. Any company that can make a scientifically sound health claim gains

a competitive advantage over its rivals. Health sells. In contrast, government regulation
can lead to negative health outcomes. Markets can correct themselves long before
government failures are even acknowledged. Over a million Britons, almost all of whom
are smokers or ex-smokers, use e-cigarettes, as a less hazardous product than cigarettes
and yet e-cigarettes face increased regulations and in many countries they are banned.

It is neither consistent nor ethical to prevent smokers from switching to much safer
alternatives. Efforts to regulate e-cigarettes are a far greater threat to public health than
the products themselves.

We argue that the interests of consumers are nearly always better advanced by the
provision of accurate information and free choice than by prohibitions and regulations.
The government policy of small but steady tax rises on tobacco and ever-larger warning
labels is becoming less effective and leads to unintended consequences.

(Source: adapted from http://www.iea.org.uk/blog/free-market-solutions-in-health-
should-be-allowed-to-flourish, Christopher Snowdon, 11th July 2013)
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4 With reference to the information provided and your own knowledge, assess the
view that tobacco consumers switching to e-cigarettes is an example of rational
behaviour.

(Total for Question 4 = 10 marks)

END OF SECTION B
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